2 2






19 3

4, 200km 8 2 8. 4%

cC ) )

22 2



21 8 31 ( ) 14:00 16:00
11

21 12 21 ( ) 13:30 16:00







((




~—~
~

=
—

(4R - #ixt)

.
Y
D::@
1 EE

s — ) )
ZEREWN D “
mE T
(A=)
PNz
FREER
-1.2.1
(1) ( )
HWL. = H.
LWL, W -
g PN
2 AR BHIXRR
-1.2.2 ( :




(2)

»

[oo—1 nnl* | [op—/nr—inn |
S L. \_ES.W.L. \_ES.W.L.

] P
’ 101
(o) fanzk

h ]
h ]
T

Q]

(b) B2 Z /S5t

{a) IE*J;I'JZ;{I/EE

(3)
= i

3 F E e

= s =
¥
7T .

=+ {1
v 10 //ID
i i i
H AR AR L 5L ARE L1 L/A FEEE

RSNy N S

=S

T e e T o



0\ \ N ) @@
) 3

(

)
o5
=
25
=

)

(
1
2
3.
4
5




( )

(H18 H21)

v _(H20 H21)

\ 4
~

v (H21)

A




1)



2)

3)

4)




5
]
1)
( )
2)
3)
5 1
( 3.1 40
40 )
4)
-2.2.1
-2.2
(a b ¢ d)
1 ( i
1 1
1 1
1 1
1 1
1 1




(1)
(2)

d)

C)




= X( a_ dx )
d=100 ¢c=70 b=40 a=0
( 3.1.1
18
AHP ( )
(1 )
-3.1.1
-3.1.1
2 3 4 5 6
|| N I [ ! S
( )

10




- 3. )
[ ] | ] X
2
> 0.09 100 9
03 03 10
=N 003 100 3
03 03
001 100 1
01
( 0.02 100 2
0.2
0.02 100 2
02
0.02 100 2
02
- 0.06 100 6
02 1.0
-~ 006 100 6
02 7.0
= 030 100 30
03 70
- N 0.02 70 1
0.1 02 10
= 002 100 2
02 10
=N 001 100 1
01 70
- 0.02 100 2
02 70
) 001 100 1
01 1.0
- 001 100 1
01 70
L, > 0.30 70 21
03 10 70
10 90

11




w‘

(1)

12




- 3.

2.1(1)

L 2.1(2)

13




40

(1)

30

60

40

60

80

(2)
(3)

80

80

100

80

~

71k

100

14

-

100

80
60
40




15

)
)
(Fick
(
(20009 )
()




60

70

4.2.1 (
( 4.2.2 )
| - | | - | | - |
:}I | - | | - |
4.2.2

16




page. 151

17




1)

2)

( FRP

<)
Yo
Yo

<)

(20009

Lol

18




. 3.1
¢ )
¢ )
v
A 4
(Fick )
\4
(2.0kg{m3)
€
o 2.0kg/ m3
N
Nw \ 2N 4
( )
( )
- 5.

19




(50 )
]
(1)
(30 50 ) (
30 50
) 50
)
( )
(2)
=2 1D
freA2 22 R WS
A INRAE N A BESiN
oA A il SATHATAAR b

—

KA
%

fr—2A1

=R 2

" I I

r—2A1 < F—R2

i)

Ti1 T2 T3 e T1 T2 T3
l s AN
e s SIS MBI 2 2 BT 5 o — 2
ez P KABAIE 2 | BT 5 7 — 2

-6.1

20




7.1
= ax ( 100 ) B x (
[ ]
a=0 B=0
a B

7.2
[ ]

7.3.1

12
AHP

21




,| | R
» a.
I
_.|_|_. 0.5 =N
0.5 —»1b .
—>| I »a. 1, 000t /
0.2 —>1 . 1,000t/
—»iC .
—>»a. - 10
—»b. - 7.5 -10
—»jc. - 4.5 - 7.
0.2
—»d. - 4. 5m
—>le .
_’l |—[:a.
0.1 b.
- 3
0.3 0. 4 b.
c.
d.
_.| I—[:a.
0.3 b.
) .
I
0.2 —>1b .
—>c .
—»{d .
,l |
»a 2
|
0.1 —>1b . 11 4
—>iC . 19 7
=N N
0.2 0.7 b.
c.
T
0.3 b.
( 3)
( ) 1

100
]
50

25

22




50

67

H67

H6 2

< -
pl NN

H27 H32 H3 7 H4 2 H47 H52 HS5 7

H22

23






(1)

(2)

(3)

25




